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Part A (Objective Type Questions) 

Write all the twelve questions. 

Each question carries ½ mark. 

1. According to Friedman, MPC out of transitory income is : 

(a) Zero. 

(c) 0.5. 

(b) One. 

(d) 0.40. 

2. The following concept is not related to classical economics : 

(a ) Wage- price flexibility. 

(c) Full employment. 

(b) Laissez Faire. 

(d) Interest rate rigidity. 

3. According to Friedman, the quantity theory of money is basically a theory of : 

(a) Aggregate demand. 

(c) National income. 

(b) The demand for money. 

(d) The level of prices. 

4. Given the consumption function, C = 205 + 0.9 Y, what is the multiplier? 

(a) 0.09. 

(c) 0.9 . 

(b) 10.0. 

(d) 9.0. 

5. When a linear consumption function undergoes a parallel shift downwards, the investment 

multiplier will : 

( a) Fall. 

(c) Become double. 

(b) Rise marginally. 

(d) Remain as before. 

Tu 1·11 over , 
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d • sed investment : 
6. Wage cut Jeads to lower interest rates an mcrea -

(a) Rea) Balance Effect. (b) Pigou Effect. 

(c) WeaJth Effect. 

7. Disposable income includes : 

(a) Direct tax. 

(c) Only wealth tax. 

(d) Keynes Effect. 

(b) Indirect tax. 

(d) None of the above. 

8. Identify the strategic variable in the Classical theory of employment : 

(a) Income. 

(b) Interest rate. 

(c) Investment and full employment. 

(d) Saving and Say's Law of market. 

9. Velocity of circulation of money (V) is negatively affected by : 

(a) Shorter time interval of income receipts. 

(b) Economic prosperity. 

(c) Liquidity preference is less. 

(d) High degree of inequality. 

10. Which of the following statement is/are true? 

(a) During a recession the economy is inside its production-possibility frontier. 

(b) During a recession the GDP gap is positive. 

(c) During a recession the unemployment rate is increasing. 

(d) All of the above. 

11. A positive GDP gap exists when : 

(a) Nominal GDP is greater than real GDP. 

(b) Real GDP is greater than potential GDP. 

(c) Potential GDP is greater than real GDP. 

{d) Economic activity is at its full-employment level. 

12. Unanticipated inflation is harmful to : 

Retirees whose retirement income is indexed. 

Debtors . 

Creditors. 

(a) 

(b) 

(c) 

(d) Economjc growth but, has no eff • t, · · · cc llJ)on md1v1dual members of the economy. 
-h ~) 

(12 X 1/2 := 6 Jn il l , 
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Pnrt B (Very Short Answer Type Questions) 

Write any ten questions. 
Each question carries 2 marlls. 

13 . Whnt arr the fi scal measures ? 

14. What is money Tllu sion ? 

15. Exn min C' llw meaning and significance of Pigou effect. 

16 . Brirfly rxplain the C:1mbridgc ca.sh balance approach. 

17. Writ r n note on Kcync8' lnw of coni:;umptio11 . 

] 8. Wlrnt is Marginnl EfficiPncy of Jnvc8tmcnl? 

19 . Whnt. do you 11wan hy full e1nploy mc11t '! 

20. \Vhnt is inflation ? 

21. Diffrrentiatr bctwcC'n APS and MPS. 

22 . What is mennt by Real Balance Effect? 

23. What nrc the important factors determin ing consumption? 

24 . Dist inguish between Classical and Keynesian aggregate supply curve. 
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(1 0 x 2 = 20 marks) 

Part C (Short Essay Type Questions) 

Write any six questions. 
Each question carries 5 marks. 

25. Distinguish between macroeconomics and microeconomics. 

2G. Explain the following concepts : 

(a) GDP. 

(b) GNP. 

(c) NNP. 

( d ) Disposable Personal Income. 

2 7. Expl a in t he major pillars of classical economics. 

28. Explain the s uperiority of relative income hypothesis over absolute income hypothesi s. 

29. Gi\'e a brie f account on Life Cycle Hypoihe.si s. 

30. Expl a in th e d iffe rence• between nominal GDP, Re.-il GDP and pot enti a l GDP. 

31. Explain inO ationary and dcOationnry gc1ps with suitnblr diagram s. 

32. What a rc the determinants of investments? 
(G x 5 = 30 mark s ) 

Turn over 
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Part D (Essny Type Questions) 

Answer any two questions. 

Each question carries 12 mar/ls. 

33 . Whnt nrc the methods and problems in estimati ng national income? 

34 . Ex pin in pcrmnncnt Jncoino hypothusiA. 
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~5. Norrntc Kcynrn:; i:111 throry of' ornploymcnt What a rc the shortcomings of Keynesi~n theory? 

3G. Exploin t.lw Clnssienl npproncli to domund for money. 

(2 x 12 = 24 marks) 
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